Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030421:GEOZ5

GL—-UD:030421; 1-69 —

IIIIIII| I IIIIIII| I T T TTTH

amp=9.02E—08 f> 10Hz 1
amp=1.42E-07 > 1Hz |
amp=4.19E-07 >0.1Hz

101

100 10! 10%

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030421:GE0Z5 window= 1

I I T III| I I T III| I I T III| I I [ III:
GL—NS:030421; 1-69 —
amp=1.12E—-07 f> 10Hz1

TN amp=1.75E-07 f> 1Hz |
~\amp=1.01E-06 >0.1Hz j

| | L1 1 III| | | L1 1 III| | | L1 1 III| | | L1 1 III_
101 100 10l 10%

Frequency (Hz)

Integrated Amplitude (m)



Power (m?°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030421:GEO0Z5 window= 1

I I I T T |||| I I I T T |||| I I I T T |||| I I I T |||:
GL-EW:030421; 1-69 —
amp=1.46E—-07 f> 10Hz1

| . . amp=1.86E-07 f> 1Hz |
o amp=9.07E-07 £>0.1Hz :

| | | III| | | | III| | | | III| | | | II_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030421:GE0Z5 window= 1

I I T III| I I T III| I I T III| I I [ III:
UG—UD:030421; 1-69 —
amp=2.58E—-09 f> 10Hz1

| amp=<.36E-08 f> 1Hz |
- amp=3.41E-07 £>0.1Hz -

| | L1 1 III| | | L1 1 III| | | L1 1 III| III_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030421:GE0Z5 window= 1
I I T 1T II| I I T 1T II| I I T 1T II| I I T T II:

- UG—NS:030421; 1-69 —
2 amp=3.21E-09 f> 10Hz"
| amp=1.56E-08 f> 1Hz |
"""" amp=8.16E—-07 >0.1Hz -

| | I | II| | | I | II| | | I | II| I\II_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030421:GEO0Z5 window= 1
I I T 1T ||| I I T 1T ||| I I T 1T ||| I I T T ||:
UG—-EW:030421; 1-69 —
amp=4.60E—-09 f> 10Hz"

. amp=1.59E-08 f> 1Hz |
""""""" amp="7.74E-07 {>0.1Hz =

| | I | II| | | I | II| | | I | II| \l II_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



GEO0Z5.001
GREO025.004

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
UD :kek030421:GEOZS

101

100 10!

Frequency (Hz)

10%



GEO0Z5.002
GEO0Z5.005

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
NS :kek030421:GEO0ZS

101 100 10! 10%

Frequency (Hz)



GEO0Z5.003
GEO0Z5.006

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
EW kek030421:GEOZS

101

100 10! 10%

Frequency (Hz)



GEO0Z5.001
GREO025.004

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec

UD :kek030421:GEOZS

1.0

©
o

Correlation
(@)
o

—0.5

—-1.0

10

1 100 10! 10%

Frequency (Hz)



GE025002 data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE025.005 NS :kek030421:GE0Z5

1.0

—
o

I

Correlation

—-0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



GE025OOS data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE025.006 EW :kek030421:GE0Z5

1.0

—
o

Correlation

—0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GREOZOS

-UD:GL,/UD

T TTTH

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap=
UD :kek030421:GE0Z5S

nseg= 69

0.75

1 —

0

- GE0Z5.001

| rgain=

1.

amp= ]_42E 07 > 1Hz |
amp=4.19E-07 >0.1Hz

= o

N

Noise Int.Amp.

- amp=8.44E—-08 > 10Hz
- amp=1.27E-07 > 1Hz
amp=2.06E—-07 f>0.1Hz

'I' [ IIIIII|

101 100 10!

Frequency (Hz)

10

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap=
nseg= 69 UD :kek030421:GEOZ5

0.75

- GE0Z5.004 ; 1— 0

anu)ZEBGE 08 > 1Hz |
amp=3.41E—-07 f>0.1Hz

. rgain= 1.
Noise Int.Amp.

- amp=<.30E—-09 > 10Hz
 amp=1.96E-08 > 1Hz
amp=1.17E-07 £>0.1Hz

101 100 10!

Frequency (Hz)

102

106

Integrated Amplitude (m)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GREOZOS

‘NS:GL/UD

-

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030421:GEO0ZS

I I T IIII| I I T IIII| I I T IIII| I I T IIII:

- GEOZ5.002 ; 1— 0 —
SN amp=1.12E—-07 f> 10Hz1
B N\l amp=1.79E-07 f> 1Hz |
. amp=1.01E-06 £>0.1Hz -

. rgain= 1. %
Noise Int.Amp. C

- amp=1.05E-07 > 10Hz =
 amp=1.57E-07 f> 1Hz .
amp=3.14E-07 £>0.1Hz | -
101 109 101 10

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap=
nseg= 69 NS :kek030421:GE0Z5

0.75

- GE0Z5.000 ; 1— 0

amp= 156E 08 > 1Hz |
amp=8.16E—-07 f>0.1Hz

. rgain= 1.
Noise Int.Amp.

- amp=<2.99E-09 > 10Hz
 amp=1.23E-08 > 1Hz
amp=<2.08E-07 f>0.1Hz

101

100

10!

Frequency (Hz)

10

106

Integrated Amplitude (m)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GREOZOS

EW:GL/UD

T TTTH

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 EW :kek030421:GE0Z5
I I IIIIII| I I IIIIII| I I IIIIII| I I IIIIII:
- GEO0Z5.003 ; 1— O —

| rgain=

1.

amp=1.46E—07 f> 10Hz1
amp=1.86E-07 > 1Hz |
amp=9.07E—-07 f>0.1Hz

Noise Int.Amp.

- amp=1.37E-07 > 10Hz
 amp=1.69E-07 > 1Hz
amp=3.76E—-07 £>0.1Hz

-
d
‘_//
ITI | IIIIIII|

101 100 10! 10%

Frequency (Hz)

10— 10

10— 11

Integrated Amplitude (m)



Power (m~/Hz)

109

10— 1%

10— 19

10~ 18

10— <1

data; seg= 8192 tot= 360600 overlap=

0.75

nseg= 69 EW :kek030421:GEOZ5S
I I T III| I I T III| I I T IIII| T IIII:
- GEOZ5.006 ; 1— 0O —
R amp=4.60E—-09 f> 10Hz"
L amp=1.59E-08 f> 1Hz |
S amp="7.74E-07 £>0.1Hz 3
n .\\ S _E
. rgain= 1. §
Noise Int.Amp. \ .
- amp=3.89E-09 f> 10Hz N
 amp=1.28E-08 > 1Hz T
amp=<2.43E-07 £>0.1Hz | L -
10~ 1 109 101 107

Frequency (Hz)

10

106

Integrated Amplitude (m)



HV Ratio

12.5

10.0

7.0

2.0

2.5

0.0

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030421:GEOZ5

0.75

window= 1

Amplitude Ratio:GL

T

s
;:
i

10~ 1

109 101

Frequency (Hz)

107



HV Ratio

15

10

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030421:GEOZ5

0.75

window= 1

_ Amplitude Ratio:UG

101

100 10!

Frequency (Hz)

10%



